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SNt 7,660,695 5,826,187 1,834,508

SNV 120,000 693,834 Ab73,834
BIXIDHE X Zel(SAIHZAIS S ESIAH) 120,000 0 120,000

BXOHE X+ E8l 120,000 0 120,000
401 Al HI L S CHYI 120,000 0 120,000
01 Al 119,136 0 119,136
OB XIOHLXI = HHI(THGHCH2H L Et)
120,000,000%*99.28/100 119,136
03 Al&=THHI 864 0 864
OEIXIHLE R T ZHI(THSHCH 2 = &)
120,000,000& *0.72/100 864
HY2IZH(SSMHE) 18,904 8,415 10,489
[23HI(ZAIHLAISELESIA) 18,904 8,415 10,489
Jl=g 18,904 8,415 10,489
201 EetE2 3| 5,184 4,896 288
01 At22teltl 5,184 4,896 288
OsAlHl SX A& 5,184,000+ 14 5,184
202 044 13,720 3,519 10,201
1 =LHO 13,720 3,519 10,201
ORKNEg SHAY 13,720,000& x 14 13,720
WRES(SSHL) 7,521,791 5,123,938 2,397,853
WEHHRS(ZAIHLAIEELSIA) 7,521,791 5,123,938 2,397,853
WRHHXI= 7,521,791 5,123,938 2,397,853
705 == R4 7,521,791 5,123,938 2,397,853
01 di==2sas 7,166,667 4,666,667 2,500,000
OsgMdtdbls ti-a3ds ot
7,166,667,000& x 14 7,166,667
02 Ol == Ol Rh&at &t 355,124 457,271 A102,147
OSEMEAES= tl==0IAt ot
355,124,000 *14] 355,124




